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WUE - A /| SECTION - A
Eﬂﬁﬁﬁ U¥T / Objective Type Questions

YT WA 19 100 7% & W7 & Wiy 9% frwew frg ww § o @ vE @@l 8
fet 50 woat & v s grr 9+ v wEt frwew H1 OMR Wi W RilgTd
FV) .50x1=350
Question Nos. 1 to 100 have four options, out of which only one is correct.

Answer any 50 questions. You have to mark your selected option on the
OMR-Sheet.

50 x 1 =50
1. fig (8 sin 60°, 0 ) 7T (0, 8 cos 60°) ¥ H g 3
@ 8 B 25
. 1
[C]- 64 (D) 3

The distance between the points ( 8 sin 60° 0 ) and
(O, 8 cos 60° is

(A) 8 _ (B) 25
- 1
© o4 @) |
2. A 0(0,0) W fag & wen farg P& i (x, y) & @ <t oPR
(A) ¥ Yx%-y? B YxPey?
© x*-y D). FEA R

If O(0, 0) be the origin and co-ordinates of the point Pbe ( x, y )
then the distance OPis

(A)  Yx?-y? B)  x2 4+ y2

(C} x2 2

-y (D)  none of these

| SS/A/605

Page 3 of 44
BiharboardQuestionpaper.com


https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

£43
&

y-318 A famg (12, 14 ) A 30 2 o
A 12 B 14

(C}l 13 (D) 15

The distance of the point ( 12, 14 ) from the y-axis is

(A) 12 (B) 14

€ 13 (D) 15

g (-6,-8)B =R 2

(A) -6 B) -8
© 6 D) s

The ordinate of the point (- 6, - 8 ) is

A -6 ' B®) -8

C) 6 (D} | 8

fog (34 ) e d R 2o

(A) e (B) fudra

) T (D) =g

In which quadrant does the point ( 3, - 4 ) Jie ?

(A)  First (B) Second

buEhird (D)  Fourth
Page 4 of 44
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28

frafafga § F-w fag fidfa aquin & fR@ 8 2
(A)  (3,2) 4By (-3,2)
€ (3,-2) D) (-3,-2)

Which of the following points lies in second quadrant ?

Ay (3,2) B (-3,2)

(€) (3,-2) D) (-3,-2)

7. famgalt (4, - 4) W (-4, 4) B FERa v HoAw feg F
(A)  (4,4) (B (0,0)

© (0,-4) D) - (~4,0)

The co-ordinates of the mid-point of the line segment joining the
points (4, —4) and (- 4, 4 ) are

A) (4,4) B) (0O, 0)
| (€) (0,-4) (D) (-4,0)
3  YoEwmAB % w fag (2,4) 8 AR fag A & T (5, 7 %?ﬁ&ir—g
B % frams ¢
A (2,-2) B) (1,-1)
C) (-2,-2) (D) (-1,1)

" The mid-point of line segment ABis ( 2, 4 ) and the co-ordinates of

point A are (.5, 7 ), then the co-ordinates of point B are

&) (2,-2) B (1,-1)
© (-2,-2) D) (-1,1)
‘ SS/A/605 Page 5 of 44
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o. ol g9 % = % fill % Fdwis (10, -6 ) 71 (- 6, 10) & @1 99 *
¥ & s 3
(A (-2,-2) B (2,2)

) (-2,2) (D) (2,-2)

The co-ordinates of the ends of a diameter of a circle are { 10, - 6 )

and (-6, 10). Then the co-ordinates_ of the centre of the circle are

Ay  (-2,-2) (B) (2,2)
© (-22) D (2,-2)
10.  =ie feeft Brye & ¥fiwl % Fdem (4,6),(0,4) 3 (5,5) & 4 fow
& Fd & Hews &
A)  (5,3) -(B) - (3,4)
= L) 144 ) ) (D)  (3,5)

The co-ordinates of the vertices of a triangle are (4, 6 ), (0, 4 ) and

(S, S) then the co-ordinates of the centroid of the triangle are
(A) S, 3) B) (3,4)
(€} (4,4) D) (3,5)

11. IC A(D,1),B(0,5)T C(3,4)fFdfl AABC & s &, a1 aaBC™

Hahd (a3 H) B
(A) 16 - (B) 12
) 6 (D) 4
|.Ss/A/605 | ST T T TPage6of44
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I{A(0,1), B{0,5)and C (3, 4) arc the vertices of any AABC,

then the area ( in square unit ) of AABC 1s

(A) 16

(B) 12
)y 6 (D) 4
12 tan 10° . tan 23° . tan 80° . tan 67° =
(A) O B) 1
€ 3 (D) % l
13. 7R & wveq Bt % S56e & U 100 ¢ 144 3, A Ih W Y130
F1 I &
(A) 10:8 - (B) 12:10
L(;) 10512 (D) 10:13
If the ratio of areas of two similar triangles is 100 : 144 then the
ratio 'of their corréesponding sidesl is |
(A) 108 (B) 12:10
(CR™O : 12 , (D) 10:13
o, Tl g 9 ) e gt T a1 e Y ) R 8
—(a) = (B) ©H @
€ @ D) & FE T
| A line which intersects ‘a circle in two distinct points is called
(A) Chordﬂ (B) Secant
(C) Tangent (D) None of these

[ ss/A/605 |
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[110]
ﬂﬂﬂmﬁgm‘rﬁwmzt 9 % gy # B) fiw & ol
9T e g 2 |

(A) 9:4 - (B 16:81
{C]. 81:16 (D) 2:3

The CQTT.ESPO_Hding sides of two similar triangles are in the ratio
4 : 9. What will be the ratio of the areas of the triangles ?

(A) 9:4 B) 16:81
(C) 81:16 ° ‘ D) 2:3
16. AABC ~ADEF @1 BC = 3 ¥ft, EF = 4 @t §| a AABC &1 &%
" 542 @, @ ADEFF1 %
(A) 5632 (B) 9692
(C) 19638#H2 . (D) 49 &fi?
MBC ADEF and BC =3 cm, EF 4 cm. If the area of AABC is
54 crn ,.then the area of ADEF 1S |
(A) 56 cm? . (B) -96 cm ?
(C) 196 cm? (D) 49 cm?
17. &l s ABCH £4=90°, BC=138l, AB= 12 8dt &l AC & 9H &
(A) 3aft B) 4 o
(C) 58 (D) 6 ad
SS/A/605
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In any AABC, ZA = 90°, BC = 13 ¢cm, AB= 12 cm ; then the value of

ACis
(A) 3 cm (B) 4cm
(C) S5cm | D) 6cm

18. ADEF @91 APOR § fmn & f5 2D = £Q a1 «R = <E, @ fmfafiga
+H-H1 FE B ?

(A} <ZF=4P (B) 4LF =/4Q

(C) «D=ZP (D). ZE=/P

In ADEF and APQR it is given that £ZD = ZQ and ZR = ZE, then

which of the following is correct ?

(A) ZF=£P (B) £F =£Q
(C)] «£D=£P (D) <ZE=ZP

i ' AB_BC _CA 3 AR

19. AABC W& ADEF W yeR & & Sp=Fp=pp W <4 = 405

/B =800 £F & 7 2

(A) 30° (B) 45°

(C) 60° (D) 40°

AB _BC _ CA and £A = 40°,

DE EF DF
/B = 80° ; then the measure of LF is

lMBC and ADEF are such that

(A) 30° (B) 45°
(C) 60° (D) 40°
SS/A/605 | Page 9 of 44
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20. @ o= 3 N v w Y ) we 3
(A) 1 (B) 2
——
() 3 (D) 3IFfMEa
The number of common tangents of two intersecting circles 1s
(A) 1 (B) 2
) 3 (D) infinitely many
21. & W@ fog PR 99 W pA W PR @ wd Y@l @i ) afR
PA =8 &Ml @ PB=
(A) 6@ (B) 8uH
(C) 12 &t . (D) 16 &
From an external point P, two tangents PA and PB are drawn on a
circle. If PA = 8 cm then PB =
(A) 6cm , (B) 8cm
€} 12¢n M 16em
22. e PAE pBfedl am fogy PR ¥ 09 g9 W el T el Yt §
Ud LAPB=80°dl LPOA =
(A) 40° (B) 50°
(C) 80° (D) 60°
If PA and PB are the tangents drawn from an external point Pta a
circle with centre at O and ZAPB = 80° then ZPOA =
(A)  40° (B) 50°
(C} 80° (D} 600
SS/A /605
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23. 9 W Feua el formg il 8 el Y, vt foreg @ @Rt I ATl B

H HH-T B0 TR R 0

(A} 30° (B) 45°

(C) 60° (D) 90°

What is the angle between the tangent drawn at any point of a

circle and the radius passing through the point of contaet ?

(A)  30°

(B) 45°
(C) 80° D) 90°

24. aqﬂ’iaﬁﬁmaﬁmaﬁmaﬂéﬁﬁ%ﬁwﬁmm%
(A) 3:4 B) 4:3
(C) 9:16 (D) 16:9

The ratio of the radii of two circles is 3 : 4 ; then the ratio of their

areas is:
(A) 3:4 B) 4:3
(C) 9:16 (D) 16:9

25, a2 nh Brown @ q 3 v Freis e s B a0° &, F7 e

(A)  5158M? (B) 4163
(C) 462 a2 (D) 406 H?
| SS/A/605 |
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The area of the sector of a circle of radius 42 cm and central angle
30° is '

(A)  515cm? (B) 416 cm?
(C) 462cm? (D) 406 cm?

26, @ I B IRIE H W S 7 R A 39 Brewmat w5 wquE R
Ay 7:95 {B) 5:7 |
(C) 25:49 (D) 49:25
The ratio of the circumferences of two circles is 5 : 7 ; then the
ratio of their radii is
A) 7:5 : (B) 5:7
(C) 25:49 (D) 49 25

27. 7sec? A-Ttan? A=
@ a9 B) 7
(C) 14 (D) O

28. UM x=acos® I y=bsin® A bx? +a’y*=
@A) a’b? | (B) ab
(C) a*p? (D) a® + b?
If x=acos® and y=bsin® then b%x? +a%y?=
(A)  a?b? (B) ab
©) a*p? h D) a?+ b2

SS/A/605 Boge 15 of 44
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20, A 3 W 1 3o o vk e & 10 9 A gh W 60° R, A
) Srard 2 |
@ 10W /) 10437
© 15/3% D) 2043
The angle of elevation of the top of a tower at a distance of 10 m
from its base is 60° ; then the height of the tower is
(&) 10m B 103m
(€ 15/3m D) 203 m
30. U 9= @ 30 tﬁﬁé’?ﬂj‘ém%aﬂtmﬁg‘ﬁjﬁé .60‘TEFI@UT
ey, dnhemEr
@) 3042 (B) 3543 i |
) 2043 #H (D) 4542 #
A kite is a at/a height 30 m from the earth and its string makes an
angle 60° with the earth. Then the length of the string is
(A) ~ 3042m - (B) 35/3m
(C) 2043m (D) 45/2m
31, k% g o@ % fo Rum whem ko ~6x+1=0 & o e
HE E ?
(A) 6 | B) 8
© 9 (D) 10
[ ss/A/605 |
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For what value of k, roots of the quadratic equation fex? —b6x+] =(

are real and equal ?

A) 6 B 8

€ 9 (D) 10

A 9gI p(x) + T Y 2 8, @t Fafafes 4 $9 pix) 1 o=
TGS § ?

A)  x-2  (B)  x+2

€ x-1 D)  x+1

If one of the zeros of the polynomial p(x) is 2 then which of the

following is a factor of p(x) ?
A)  x-2 (B) xh2

C) x-1 (D) x+1

3:3. ﬂﬁi@ﬁ cx2+a.x-§-b%¥1?!iﬁ€aaﬂll3iﬁ,ﬂjfu.[3 EARCIERS

IR

B ==

(A)
C .

L]

© 2 o -%

If & and B be the zeros of the polynomial cx? +ax+ b then the value

ofa.pis
" 2 | ® =2
© & oy -L
SS/A/605 Page 14 of 44
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35.

36.

PrerirRan 3 2 w9 foare ko (110 ]

A" (x+3) (x-3) =x? - 453 g) (x+3)% =4(x+4)

(C)  (2x-2)% =4x2,7 (D) 1

4x +-—=4
4x .

Which of the following is g quadratic equation ?

(A) (x+33{x¥3]=x2—4x3(a)‘ (x+3)° =4(x+4)

€) (2x-2)? =4x2+7 D)  4x+ L -4

_ 4x .
frefafgs 8 @ 9 Ram afwo 582 -
(A} 5x-x%=x2+43 B)  x3-x2=(x-1)3
) (x+3)2=3(x%2-5) (D) (V2x+3)2=2x%+5

Which of the following'is not a quadratic equation ?
(A) Sx-x?=x?+3 B) x3-x%=(x-1)3
C) O(x+3)2=3(x%2-5) (D) (V2x+3)°=2x*+5

feure e 2x2 - 7x+6=0 1 fordwe 2
(A) 1 B -1
€ 27 (D) 37
The discriminant of the qﬁadratic equation 2x% -7x+6=0 is
Ay 1 B -1

(C) 27 (D) 37

[ ss/A/605 |
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5T ﬁl—ifﬂf‘l&dﬁﬁqﬁﬁx=2%é@rﬁﬁﬂt§? “'IU]
(A} (2,0) | B) (2,1)
© (2 2) (D) ¥ & wf
Which of the following points hes on the graphof x=27?
(A) [2,01. B) (2,1)
€ (2,2) (D)  all of these

38. AR P+1,2P+1 4p_ 1 TR 34 4 & @t per e 2
(A) 1 B) 2
C) 3 | (D) 4
WP+1,2P+1,4P- 1 arcin AP, then the value of Pis
(A) 1 (B) 2
€ 3 (D) 4

39. WARAA 1,5, 9, ud aim 2
A) 2 B) 3
© 4 (D) s
The‘ecommon difference of arithmetic progression 1, 5,9, g
A) 2 (B) 3
€ 4 (D) 5

40. AR AP 5, 8, 11, 14, ... 1 HH-TT 92 38 2 7
(A) 104 ——B) 11af
(C) 124 (D) 13 gf

[ sS/A/605 T Seibeiid
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Which term of the A.P, 5, 8, 11, 14, ... is 38 ?
(A)  10th (B) 11th
(C) 12th D) 13th
41. aﬁﬁ%mﬂmﬁmmsiﬁﬁmﬁaﬁmW%
(A)  25:8 (B) 25:16
{€) 16:25 D) d A FE Td
The ratib of the vdlumes of two spheres is 64 :125.Then the ratio
of their surface areas is
(A) 25:8 (B) 25:16
(C) 16:25 ; (D) none of these
42, @ Jer  Brenal w1 AW 42 5 2 W A S F N 6 : 7 B,
@ ITH FAA! H1 9 B
(A) 96:125 (B) 96:175
(C) 175:96 (D) 20:63
The radii of two cylinders are in the ratio 4 : 5 and their heights are
in the ratio 6 : 7. Then the ratio of their volumes is
(A) 96:125 (B) 96:175
(C) 175:96 (D} 20:63
43. R froa o i 1l g R
(A) aR? B) 2xR’
_(C) 3R? - D) 4nR?
SS/A/605 Page 17 of 44
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What is the total surface area of a hemisphere of radius R ?
(A)  R? (B) 21R

(C) 3aR? (D)  4nR?

44. 3 TRt W% % Ihy8 B Sawe 880 A2 2 ik s 14%3“*3?*@'

(A) 10 &+t ~ (B) 20a

(©) 403¥d (D) 30 &

If the curved surface area of a cone is 880 Cmgand its radius is
14 cm, then its slant height is
(A) 10cm (B) .20 cm

(C) 40cm (D) 30cm

45. gfe fedt aa 3. fawot $i dear 243 8t 2 G T8 H A o 2

(A) 52 8 (B) 2J3 &
(C) 3 & (D) 43
If the length of the diagonal of a cube is 2v/3 cm, then the length of
its edge is
(A) 2cm (B) 23 cm
(C) 3cm (D) 4cm
[ SS/A/605 Page 18 of 44
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110 |
46. Wwwmmammwgmﬁﬁ%%qﬂ@ﬁwﬁ

fepeett 71 & ST 2
@A) AT (B) WA

(C) ®: 7T | -+ (D) SRE T

If the edge of a cube is doubled then the total surface area lwﬂl

become how many times of the previous total surface area ?
(A) Two times (B) Four times
(C) Sixtimes (D) Twelve times

47. wwﬁﬁ@.mﬁwﬁm%ﬁm%@ww |

aﬂéqgma% B
/[,94 2:1 (B) 4:9
& 32 - (D) 4:3

The ratio .of the total surface area of a sphere and that of a

-hemisphere having the same fadius is
(A 2:1 By 4:9
(C) 3:2 . (D) 4:3

4g.  afz fed g & T JEE R 1232 a2 2, @ Iuh! B 2

(A) 7 (B) 144
) 213 (D) 28 &
['ss/A/605 | Page 19 of 44
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If the curved surface area of a hemisphere is 1232 Cmgthen its
radius is
(A) 7 em (B) 14 cm
(C) 21cm (D) 28cm
49. i cosB+cos? =1 sin? 8+sint o ®AF 2
&) -1 B) 1
< o (D) 2
If cosB+cos?0=] then the value of sin® 8+sin? 0 is
(A) -1 (B) 1
C) o (D) 2
' 2
50. _l__fia:_:}_i;?
1+cot? A
(A)  sec? A B -1
(©) cot®>A (D) tan®A
51. sin(90 -A) =
(A) sinA (B) cosA
(C) tanA (D) sec A
52. 3 a=p=60" MM cos(a-p) ®.uM 2
1
A8 5 B 1
(C) O (D) 2
SS/A/605 Rage 30 bf 44
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(110 ]

If a=B=60" then the value of cos(a—-f) is
o1
S B 1
C) © (D) 2
53. A 0 =45° 2 A sin 0 + cos 0 H AN B
w B 2
1
g D 1
B 3 (D)
If @ = 45° then the value of sin 6 + cos 0 is
. @ V3
A)  — (B) V2
(A) 7
1 D) 1
(C) 5 (D)
54. AR A=30° AW 2204 FiuA R
]1-tan“ A
(A) “2tan 30° (B) tan 60°
(C) 2 tan 60° (D) tan 30°
' 2tanA .
If A = 30° then the value of m is
(A) 2 tan 30° (B) tan 60°
(C) 2 tan 60° (D) tan 30°
SS/A/605 | Page 21 of 44
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E [110]
55, e tan T;_F% g sin 0 %1 57
) 12
A = 14
(A) 12 ~ (B} 13
5
C 9o 12
©) 13 D)
If t.aun.{}:lsg then the value of sin 0 is
3
A 2 12
(A) 13 (B). =
5
(C) 13 (D) %
s6. C0859° tan80° _  RerdEd e sy sifbfEus
sin31° © cot1Q° YT YU, FTees Uue, Hiere-h1,
UTISIhd, Siied, Ale ee, de- 317 31T
1 e e udten nes Uz anfe & f3e...
A —= (B) 1
JE ( BihurboardQuestionpap@
J3 . %
3
© D) 3
57. AR tan25° x tan65° = sin A & ql A 1 o 2
(A) 25" (B) 65°
(C) 90° (D) 45°
If tan25° x tan65° = sin A then the value of A is
(A)  25° (B) 65°
(C) 90° (D) 45°
| SS/A/605
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58. 4f¢ cosf=x @ tan 0 =

1}1+x2 1—x2

(B)

(A)

(C) 1- x? (D) !

If cosO= x then tan 0 =

v.f1+,:nc2 Jjueg®
(A)

(B)

© N1-x° (D) ==
1-x

99. [l-cos4e)=

(A) cos?0(l-cos?0) (B) sin?6 (1+cos? 6)

(C) sinZ0/(1-sin” @) (D) sin20 (1+sin? 0)
60. yyuwfRmfrftfig@amssne?

A (y0) B (2, y)

) (0, x) (D) ¥ H Iy T

What is the form of a point lying on y-axis ?

(A) (y,0) (B) (2, y)
(C) (0, x) : (D)  None of these
| SS/A/605 | Page 23 of 44
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[ 110
E ﬁmﬁiﬁgﬁﬁﬁﬁm%ﬂﬁiﬁqﬁ%w3qﬁ‘m%?
A)  x2+7x-30 - B)  x*-7x-30
e
© x2+7x+30 D) x?-7x+30
Which of the following quadratic polynomials has  zeroes
3and - 10 ?
(A)  x%24+7x-30 | B)  x2-7x-30
C) x?+7x+30 . @) x%-7x+30.
62. ﬁ%ﬁﬁwm%mﬁwmawmm—zé,ﬁaﬁ
feoma wgwg 2
TSA) x2-3x-9 B) x2-3x+3
©) x?-2x+3 (D) x24+3x-9

If the sum of Zeros of g quadractic

Polynomial is 3 and their
_product is ~'2 then that

quadratic polynomial is

(A) Ox?-3x-2 B) x2-3x4+3

© x2-2x+3 (D) x2+3x-2.

63. A p(x) =x* - 2x3 41742 -4x+30 ®

qx)=x+2 & W7 Ry w17y 2
ql I % T R

") 6 B) 3
C) 4 (D) - 5
SS/A/605 ] : 7
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If p[X}=x4—2x3+1?x2—4x+30 is divided by g(x)=x+2 then

the degree of the quotient is
(A) © (B) 3
€ 4 D) S

64. x+2y+3=0, 3x+6y+9=0 % Frem & &M ?
(A) THE (B) IS & e
(C) 3IFfHa g (D) ¥ & F¥ A
How many solutions will x+2y+3 =0, 3x+6y+9 =0 have ?
(A) One solution
(B) No solution
(C) Infinitely many selutions

(D) None of these

65. @l tRaw oitewn & @it afe aure & ot g i e &t
(a) 1 B) 2

() P (D) % & S5 Tl

If the graphs of two linear equations are parallel then the number

of solutions will be

A) 1 By 2
(C) inflinitely many (D) none of these
SS/A/605 Page 25 of 44
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66. Wash TfHW IW Sx—_ay+8-0 T 7x+6y-9=0 B

@) W @ v
© aBm D) T A = A
Th‘e pair of linear equations 5x-4y+8=0 and 7x+6y—-9=0 is
(A)  consistent (B) -. inconsistent |
(C)  dependent (D) none of these -
67. e feum FfiTr 3x2 -5x 420 H W o WHE N 2 +p2 F AA 3
(A) 1—5— | (B) %
© 2 - o 3

If @ and B are roots of the quadratic equation 3x%-5x+2=0 then

_ the value6f'a? +p2 is

13 ' 9
A = e

5 | 3
© 32 | o) 3

68. e fgama @Hiwwr 2x2 —7x- p=0 1 % qo 2B A pFTUE R

(A 4 By -4
C -6 3 D) 6
SS/A/605 Page 26 of 44
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f .
[l one root of the quadratic equation 2x%-7x- p=0 is 2 then the
value of p is

A4 B) -4

C) -6 (D) 6

69. ft foemm Wi 2x% - x-6=0 %1 T g 2 R A FHH AT @
A) -2 (B) 2
() % - (D) 3

if one root of the quadratic equation 2x2-x-6=0 is :Eeithcn its

another root 1s

(A) ol (B) 2

() % (D) 3

20, feuma wdtEml 2% - 6x+3=0 & el 61 Fehfa @1 2 2
(a) R Tg FEHH (B) dR«fde T @A
() TR T (D) ¥ B Tl

What is the nature of the roots of the quadratic equation

2x2 —6x+3=07?

(A) realand uneqgual (B) real and equal
(C) notreal (D) none of these
[ss/A/605 | Page 27 of 44
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(9 ¥ AU 2-5,5-8,8- 11, ... % Il H 79 &

[ 110

Ay 2 B) 3
C) 4 : B) 35

The length of the class intervals of the classes,
2-5,5-8,8-11,...is

(A) 2 (B) 3
C) 4 D) 35 o>
72. AR AR omeR foww dematt w mer 6 2, it Ty wE) e @
(A) 45 ' B) 9
€ 21 | D) 15
If the mean of four consecutive odd numbers is 6 then the largest
number is
A a5 A ® o
€ 21 D) 15
73. | YY" 6 W Whd Wil ¥ are 2
A 4 B 6 |
C) 7 D) T ¥ W T
The mean of first 6 even natural numbers js
A) 4 (B) 6
Cc) 7 (D)  none of these
| SS/A/605
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1+cot29 =

74.
[
(A) sin” 0 (B)  cosec?6
_/[9} tan® 0 (D) sec2
79. 8, 7,93 - F _5J 4, _5, v SW EEFTQ; %
(A) S (B) 7
(C) 8 (D) 9

The mode of 8, 7,9, 3,9, 5,4,5,7,51s
(A) S B) 7

(C) 8 (D) ¢°

76. aft P(E)=0-024 P(E') U« 2

(A) 002 (B) 0-002
(C) 098 (D) 097
If P(E)=0-02'then P(E') is equal to
(A) 002 (B) 0-002
() 098 (D) 0-97
77 aqﬁﬁwmﬁwm%lmmﬂa’rﬁﬁwmsﬁﬁﬁ
firerar 1 & ?
1
L B) =
(A 3g 3
5
2 D) ==
| /605 Page 29 of 44
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Two dice are thrown at the same time. What is the probability thay

the difference of the numbers appearing on top is zero ?

1 1
5 8
(C) 18 (D) 36
78. Q) Rl 1 3o § 96w v ey ) s 2
1 | 1
& > (B) 3
€ = D) 1
The probability of getting heads on both the coins in throwing two
coins is
1 1
@ L B 3
© 1 D) 1
- )
79. @ﬂéﬁ%uﬁmw?ﬂ-m%sﬂ%aﬁmﬁwéﬁﬁ
. wfdesan @ |
3 1
(A) oy (B) 13
1 1
(€) 3 (D) 7
A month is selected at random in a year. The probability of it being
June or September is
3 1
A 2 B -
© 1 o) L
6 4
SS/A/605
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50. T R ¥ wem 4 5 9 A w2

a3 | “B)

(C) % (D)

The probablhty of gf:tting a number 4 or 5 in throwing a die is

(A) % (B)

(€)

Wl W

O

|

1. ufe frefl wiat A =1 5af vg 11 va W 3ax 2 B A IWHT FUH UG F

g ?
| A) 1 (B) 2
(C) 3 ' (D) 4

If 5th term of an A.P..is 11 and common difference is 2 then what

is its first term ?
(A) 1 (B) 2
c) 3 (D) 4
82. nUel dTcl HATAL H & I n2+2n+1.%ﬁ3l31ﬁ7r-63'r‘li%
(A) 29 {BJ- 19

C) 15 (D) T ¥ F A

The sum of an A.P. with n terms is n? +2n+1 then its 6th term is

(A) - 29 (B) 19
(C) 15 (D) none of these
| SS/A/605 Page 31 of 44
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83. Fmfafaad S e adid e ?

(A)  1,7,9,16, .. B 2% 0t x.

(C) x,2x, 3x,4x, ... (D) 22, 42, 62, 82, ..

Which of thelfollowing isin an A.P. ?

(A) 1,7,9, 16, I B) x2, x3, x*, x°,...

(C) x, 2x, 3;.;, 4x, ... {ﬁ] 22 42 52 g2
84, Tefofgn d S aam @i d 4 & »

(a) 1,2,3,4,.. | B) 3,6,9,12, ..

(C) 2,4,6,8, ... D) 22 42 g2 g2

Which of the following is not in an A.P. ? -

A) 1,23, 4,05 (Bj 3,6,9,12, ...

(C) 2,468, ... D) 2% 42,62 82

85. WHIAUAE 1,4, 7, 10, ... % YUH 20 TGl 5 I 2

(A) 500 (B) 540
(C) 590 (D) 690

The sum of first 20 terms of the A.P. 1, 4,7,10, ... is

(A) 500 (B) 540
(C) 590 (D) 690
SS/A/605 | Page 32 of 44
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86. fmfafea ® fFgw o 1 & st R ?
(A)  sin260° +cos60° . (B) sin90°x cos90’
; )& G
[ 8 1
.92 ;
c 60 D sin4d x —%
w3 . g .co84d
Which of the following values is equal to 1 ?
(A) sin? 60" +cos60 (B) sin 90 x cos 90
; o 1
in* 60 D gind4d X ——
(C) sin“60 (D) B A
rfsf'? ‘cos? A(1+tan? A) =
(A) sin A | (B) cosec2A
c) 1 : : (D) tan” A
88. tan30 =
' V3
A3 ® 2
: D) 1
C s
© -
89. cos60° = _
1 ¥3
(A) 5 (B) 5
1
E —_— (D) 1
AC) 7
SS/A/605 Page 33 of 44
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90. sin?90° -tan245° =

1
(A) 1 B 3

c) L (D) O

J2
901. Fmfafad § H-u1 P F1 qomerd ¥R &1 € ?

(A) 13 (B) >

20 32 51"72
8 15

Q D .
= 22 x 32 (B 2%'x5°

Which of the following fractions has terminating decimal
expansion ?

14 9
A)  — B
W B i
8 . . 15
(C) : (D)
22532 . 22 x 53
92. —E _ & wq% 0505 I feran n wehan 2
2?1:’(5'-'71
101 101
A B)
A) 21x52 [ 21:{53
101 101
C D
= 223«52 (D) 23><52
| SS/A/605 Page 34 of 44
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In the form of P , 0:505 can be written as
2N x5™
101 101
(A) (B
2! x 52 ) al x 53
101 101
C D

93. IIﬁ'm"'QF"ﬁ'ﬁfWa=I'Jq+rT?i b=4,q=53ﬁ'{r= 18l a%]ﬁﬂﬁﬂ%?

(A) 20 (B) 21
(C) 25 (D) 31
-If in division algorithm a=bg+r, b=4, g=5and r=1, then what

is the value of a?
(A) 20 (B) 21
(C) 25 (D) 31
O3 WEIR 2x%254x-6 & Y% B
(A) 1,5 ' B -1,3

© 1,-3 . D -1,-3

. i
The zeroes of the polynomial 2x* —4x - 6 are

(A 1,3 B) -1,3
{C] 1: -3 {D] o T 1: -3
| S8/A/605 Page 35 of 44
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95. W (x3 +x2+2x41) (x2+2x+1) F1 AR
(a) 3 B) 4
€ S (D) 6
The degree of the polynomial {x3 +x2 +2x+1) (x% +2x+1) is
(A) 3 B) 4
(C) 5 | {D}_' 6
96. frafefgs & #17 ague w8 2 »

a) x2-7 B) 2x247x+6

1 2 1 4
C frmes i Fa
(C) 2:: +2x+4 {P] x+x

Which of the following is not a polynomial ?

(A) x%-7 B) 2x%2+7x+6
1 2.1

C) =x“+=x+4 D +3
5 g D) x x

(97 ﬁu%%aﬁ%aﬁmaa@a%@mzqéézﬁ?

A)  x%+4 B)  x2_4
(C) x?-2x+4 (D) x24+J8
Which of the following quadratic polynomials has zeroes
2 and -2 7 '
A)  x*+4 B) x%2-a4
) x%-2x+4 (D)  x24+J8
SS/A/605 | 6 of 44
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o.M T 2476410 % Y% o pHi A o + p o A R

Q9.

[110]

o (B) 10

G ~ = D) -10

If @ and B are the zeroes of the polynomial t24+7t+10 then the

value of a + B is
A 7 - (B) 10
€ -7 (D) -10°%

(sin30° +cos30 )-(sin60" +cos60’ ) =

@ -1 B O

=

€ 1 (D) 2

100. aﬁﬁ*magﬁz (k=1)x2 4 Joc+] F1 T I - 4 B A k I TH T

.5
® 3

Blen

4
Cc) = D 3

|

If one zero of the quadratic polynomial (k-1)x +kx+1 is — 4 then .

the value of kis

- ; . §
@ -2 B’ 3
4
4 2
e -z (D) 3
| Page 37 of 44
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@|UT - ¥ /{ SECTION - B

i ﬁ'ﬁq W31 / Short Answer Type Questions

oy qEr I#SGﬁagaﬁﬁqufg##ﬁF&’?:ISW#%m%!%
o & fw 2 ofF Fraffg 3 15 x2=3q

Question Nos. 1 to 30 are Short Answer Type Questions. Answer g,

15 questions. Each question carries 2 marks. ' 15x2=3p
1. mﬁg%ﬁmmﬁaﬁsﬁﬁgﬁ(-l,?]aﬂi (4, -3 e

" TEREE B 2 : 3 F Irqurd § ia-Renfa a2

Find the co-ordinates of the point which divides line segment

joining the points (- 1, 7 ) and ( 4, - 3 ) in the ratio 2 : 3 internally,

2. P & e A R st H Flwiw (-5, - 1), (3, - 5) 7

(5,2)%

Find the area of the triangle whose vertices are (- 5,- 1), ( 3, -5
and ( 5, 2).
3. fodlh =7 % famniod3 Th R wa %1 g1 9B e s

The diagénal of a cube is 9¥3 cm. Find the total surface area of

cube.

4. R tang=% 2l 4l sin 6 + cos 0 %1 TH FId |

-

If tan B=—5— then find the value of sin 8 + cos 0.

12 J
5. af sin3 A=cos (A - 26°) B &l 3A Th =1 H1 & @ A B W 7 F)
If sin3A=cos(A -26°), where 3A is an acute angle, then find the
value of A.
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6. ﬂmaﬁmﬂmsoiﬁwﬁﬁ@ﬁmqﬁﬁﬁ%ﬂﬂ%;
@t wEan {m w)

o U
The sum of two numbers is 50 and one number is 3 times of the

other ; then find the numbers.

SF— TH 7 M o @@ SaR % gy 30° F H7 w9 21 R W 39 fag
uT§ 7d L el dif S B T Hw el

A ladder 7 m long makes an angle of 30° with the wall. Find the
height of the point on the wall where the ladder touches the wall.

8. UH WA 9q¥ ABCD #) Y91 AD & Wg WMl | E U& fag ® @ BE,
CD® F W wfaede w2 @t frg w1 % AABE ~ ACFB.

E is a point on the extended part of the side AD of a parallelogram

ABCD and BE intersects CD at F; then prove that AABE ~ ACFB.

9. ABC % Hufgeg awsm fyw 2 fme <c gwsiv 3 fag # f&
AB? =2u€?.
ABC is an isosceles right triangle with £C as right a.nglé. Prove that
AB?=2AC%.

10. AB=AC 911 U% WHiGEIE AABCH! 95l T ¥ CB W fRm E s fag
g13afe AD L BC 3R EF L AC R, @ fog =1 f% AABD ~ AECF 21

E is a point on side CB produced of an isosceles AABC with
AB=AC. If AD | BC and EF L AC, prove that AABD ~ AECF.

| SS/A/605
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11, % AABC #it o AB 3ih BC @en @Ryl AD @& 3 APQR

RGeS PQ 3 PR ww wftms py wwm: @agud € A fag o
% aaBC ~ aPOR.

Sides AB and BC and median AD of a AABC are respectively

Proportional to sides PQ and PR and medium PM of another APQR
Then prove that AABC ~ APQR. |

12, AABC a1 ADEF wwey § 7en 39% Swed %9: O 32 a1 64 &2 3
A DE =51 3 & 9t AB Wi 5|

AABC and ADEF are similar and their areas.are 9 cmgand 64 cm 2
respectwely If DE = 51 ¢m then find AB.

13, % +1ﬁx+1ﬁﬂ1‘1'ﬂﬁﬁml

Divide x3 +1 by x + 1.
A AT e gt #1 5@ 3R 504 71 1188 1 wowo w

Using Euclid's vision,algorithm, find the H.C.F. of 504 and 1188.

e “Reams wfEm 2%% +Sx -3 = o%ﬁéwmaﬁaﬂtugﬁﬁwﬁnﬁm
|

Find the discriminant of the quadratic cquatmn 2x2 +5x-3=0

and find the nature of the roots also. '
17 At R O % mwaﬁrﬁm7ﬁ1ﬁ@im°ﬁ;1§24ﬁrﬁ%aﬁsﬁ
THYB H1 BTH 1A |

If the radius of base of a cone is 7 cm and it height is 24 ¢m then

find its curved surface area.

i L |

SS/A/605 T
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T U5l R foere it g F a7 @ 21 40 fre d w9 g0 femomn

[
SRS T |
The length of the minute hand for a clock is 7 cm. Find the area
swept by it in 40 minutes.
18. @ # % tan 7° . tan 60° . tan 83° = V3.
Prove that tan 7° . tan 60° . tan 83° = V3.
19. Teum g3 & wam W wdfew 2x? -2/2x+1=0 & g7 TR
Using quadratic formula find the roots of the equation
2x? -2J2x+1=0.
'20. 8+ 11+ 19+ ...+ 67 % ITHA F1d B
Find the sumof 3+ 11+ 19 + ... + 67.
48 uﬁﬁﬁsﬁmmaﬁmsa’ft{agmnam 43@?9%ﬁm%ﬁ
9 Hi |
If Sth and 9th terms of an A.P. are 43 and 79 respectively, find the
‘AP,
faere s ae sife geret siifbfaaes
29 ﬁ{aﬁ.ﬁ; 1+cosH =1+FOSB . ﬁmm'mm'm_ﬁ'
l-cos® sin 6 UIGhd, Siied, Ale eec, e~ 31 3w
Tfaeme weten nea ua 3nfe & fBe...
ll+cosB l1+cos®
Prove that i—cesB =5 ( BIhurboardQuestlonpuper comp
23, fuz #I f% tan9° . tan27° =cot63°.cot81°,
Prove that tan9° . tan27° =cot63°.cot81°.
24. _gfe cosA=fS£ g cotﬂﬁ?cosecﬂ%mmﬁﬁl
If cos A =—g- then find the values of cot A and cosec A,
| SS/A/605 Dn~e 41 of 44
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- Ut 3 6t R @il 1 70 365 B

Find two consecutive positive integers, sum of whose squareg
is 365.

E‘Iﬁ@raﬁ%mﬁaﬂaimmo%mﬁmwaﬁﬁﬂmmmﬂm%l
 FYF & foru gt Ry

The difference of squares of two numbers is 180. The Square of the
?

smaller number is 8 times the larger number. Write the €quation
for this statement.

27.  feet By POR 1 3 fag s 3ft T ymait po o PR W 99l 39 YR §

fs PS_PT

= ——

S0TR T 4PST =2PRQ, @ Rz W 5 APOR @ wifay
RELSE

In a triangle POR, two points S and T are on the sides PQ and PR

respectively such thatt L2 - PT _ |
SQ TR and £PST =<PRQ, then prove that

APQR is an isosceles triangle.

28 foe R % 5443 w sfir g 3

Provethat 5- 3 is an irrational number

29, _k%mm%%@ﬁﬁu,l).(&k]aﬂt

(-1,4)qg
For what value of & points ( 1 1),(3 ) -’
collinear ? kland{_l b
S04 Y-8 W o W fag W ot
. ol (6,5 ) 3t (_ 4 3) & wewE

| SS/A/605 |
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'ﬁé I90T 99 / Long Answer Type Questions

uﬁmmﬂssﬁﬂaﬂﬁvm%lﬁﬁﬁﬁr—éf 4 Uyl % I | WS
v & fov 5 o Fifea 2 | 4 x5=20

Question "Nos. 31 to 38 are Long Answer Type questions. Answet any

4 questions. Each question carries 5 marks.

31.

32.

33.

34.

4x5=20
s gl g0 x+3y -6=0 YT 2x -3y-12=0 HI Her@ Wid au
& Wi

Draw the graphs of the pair of linear equations x+3y-6=0 and

2x -3y-12=0 and solve them.

g #t F6 TR el g 1 T S g B F T A % w0 A 9

= F0 B} SaRa w6 FTE E S € dr B ewed 2 2

If one angle of a triangle is equal to one angle of the other triangle
and the sides included between these angles are proportional then

prove that the‘triangles are similar.

A 3], A TF F@ AN A F Ay H IR T R W AW IR b

TS 1 G € 4§61 T i)

A two digit number is four times of the sum of its digits and twice

the product of its digits. Find the number.
7-6%@@‘(@1@3@@@‘1@ 5: 8% g # fomfrm i) Al
Amdi ) Wi

Sl

|-|-l-'

Draw a line scgrrient of length 7'6 cm and divide it in the ratio

5 : 8. Measure both parts.
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39 ﬁlﬁ Ex@CS (secO-tan) =1+2tan? - 2secO .tan0.
(secO+tan )
0-tano)
Prove that Lsec = 29_ 0.tan®.
ve (sect+tan @) braian”i=asm0
36. 2 g A Bt wuw: 10 ¥t afe o A ¥ 3@ @ A Brew I w
Forereht ot 57 41 961 01 ol & @m & s A
The radii of two circles are 19 em and 9 cm respectively. Find the
radius of the circle which has circumference equal-to the sum of
the circumferences of the two circles.
37. Trafafen deq +1 w3 =5t
T HWE | 11-13 | 13-15 | 15-17 | 17-19 | 19-21 | 21-23 23-25
hLSL 7 6 | 9 13 | 20 5 4
Find the mean of the following distribution :
Class- | 114841315 | 1517 | 17-19 | 1021 | 21
interval ) ) i ) 23 | 2325
Frequency Y 6 9 13 | 20 | 5 4
38. T WF F fouk f s Ird 4 I R qw wd g Rl % ofom
(wftitrat) 18 @nft ok 6 At & W o9% %1 sudly dmwa 7 =)
The slant height of a ffustum of a cone is 4 cm and the perimeters
(circumferences) of its circular ends are 18 cm and 6 cm. Find the
curved surface area of the frustum.
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